
EPD 
ENVIRONMENTAL PRODUCT DECLARATION  

| ENVIRONMENTAL PRODUCT DECLARATION 

 

 

CONSTRUCTION AGGREGATE PRODUCED BY:  

 MERCER- FRASER COMPANY 

Plant Name: 

 

IMPACT INDICATOR A1 A2 A3 PER TON 

Climate Change kg CO2e 0.00E+00 3.71E-03 6.08E-03 9.80E-03 

Ozone Depletion kg CFC11e 0.00E+00 1.52E-13 7.02E-10 7.02E-10 

Acidification kg SO2e 0.00E+00 5.09E-05 2.55E-05 7.64E-05 

Eutrophication kg NE 0.00E+00 3.04E-06 1.73E-05 2.03E-05 

POCP kg O3 0.00E+00 1.62E-03 2.87E-04 1.90E-03 

 
 

GENERAL INFORMATION 
Declared Product Construction Aggregate produced by Mercer Fraser 

Date of Issue  March 14, 2022 

Period of Validity  5 years 

 
EPD Holder Mercer- Fraser Company 

EPD 293 

 
 

 

Program Operator 
ASTM International 
100 Bar Harbor Drive 

West Conshohocken, PA 19428-2959, USA  
 

LCA and EPD Developer 
Athena Sustainable Materials Institute 
280 Albert Street, Suite 404 
Ottawa, ON K1P 5G8, Canada 

 

 

Core PCR 
ISO 21930:2017 Sustainability in Building Construction - Environmental 
Declaration of Building Products 

Sub-category PCR 
ASTM Product Category Rules (PCR) for Construction Aggregates: Natural Aggregate, 
Crushed Concrete, and Iron/Steel Furnace Slag, issued January, 2017 

 
 

Independent LCA Reviewer and EPD 
Verifier 

Independent verification of the declaration and data, according to ISO 21930:2017 
and ISO 14025:2006 

☐ Internal ☒ External 

Timothy S. Brooke, ASTM International 

The declared product meets the following product specification: 

 

• ASTM-C33 Standard Specification for Concrete Aggregates  

 

 

Disclaimer: 
EPDS are comparable only if they comply with this document, use 
the same sub-category PCR where applicable, include all relevant 
information modules and are based on equivalent scenarios with 
respect to the context of construction works. 
Amount of cement  

Plant A 



EPD 
ENVIRONMENTAL PRODUCT DECLARATION  

| ENVIRONMENTAL PRODUCT DECLARATION 

 

 

  METHODOLOGICAL FRAMEWORK 
 
 

DECLARED UNIT 

The declared unit is 1 ton of construction aggregate. Figure 1 provides a visual representation of the construction aggregate 

product.  

 

Figure 1: Construction Aggregate 

SYSTEM BOUNDARY 
A summary of life cycle stages included in the EPD is identified in the figure below. This EPD covers A1-A3 life cycle stages 

(Cradle-to-Gate). A summary of activities excluded from the EPD is as follows: 

o Production, manufacture, and construction of manufacturing capital goods and infrastructure. 

o Production and manufacture of production equipment, delivery vehicles, and laboratory equipment. 

o Personnel-related activities (travel, furniture, and office supplies) 

o Energy and water se related to company management and sales activities. 

 

CUT-OFF RULES 
The cut-off criteria for all activity stage flows considered within the system boundary conform with ISO 21930: 2017 Section 

7.1.8. Specifically, the cut-off criteria were applied as follows: 

o All inputs and outputs for which data are available are included in the calculated effects and no collected core process data 

are excluded. 

o A one percent cut-off is considered for renewable and non-renewable primary energy consumption and the total mass of 

inputs within a unit process. The sum of the total neglected flows does not exceed 5% of all energy consumption and mass of 

inputs. 

o All flows known to contribute a significant impact or to uncertainty (e.g., portland cement and admixtures) are included. 

o The cut-off rules are not applied to hazardous and toxic material flows – all of which are included in the life cycle inventory. 

o Proxy data was used for admixtures used that did not align with any of the admixture categories published in the EFCA 

EPDs. In those cases, the Water Reducing Admixture data was selected as a conservative assumption as per the NSF PCR 

Appendix A. 

 

 

ALLOCATION 
The allocation of co-products or secondary flows cross the system boundary conforms with the ISO 21930: 2017 Section 7.2.4. 

Specifically, the allocation criteria were applied as follows: 

o Allocation was not applied to any of the gate-to-gate production facilities. For facilities that manufacture additional products 

the LCI flows at the facility specific to the aggregate production were reported. 

o For Secondary Data sources, the NSF PCR default allocation selection (i.e., “Cut-off” or “Alloc Rec”) was applied. 



EPD 
ENVIRONMENTAL PRODUCT DECLARATION  

| ENVIRONMENTAL PRODUCT DECLARATION 

 

 

 

 

CALCULATED RESULTS A1- A3 

 

CORE MANDATORY IMPACT INDICATOR A1 A2 A3 Total 
Global warming potential GWP kg C02e 0.00E+00 3.71E-03 6.08E-03 9.80E-03 

Depletion potential of the 
stratospheric ozone layer 

ODP kg CFC11e 0.00E+00 1.52E-13 7.02E-10 7.02E-10 

Acidification potential of soil and 
water sources 

AP kg SO2e 0.00E+00 5.09E-05 2.55E-05 7.64E-05 

Eutrophication potential EP kg Ne 0.00E+00 3.04E-06 1.73E-05 2.03E-05 

USE OF PRIMARY RESOURCES 
Non-renewable Fossil NREF MJ (HHV) 0.00E+00 5.45E-02 8.89E-02 1.43E-01 

Non-renewable Nuclear NREN MJ (HHV) 0.00E+00 0.00E+00 1.24E-02 1.24E-02 

Renewable (Solar, Wind, Hydro, 
and Geothermal) 

RESWHG MJ (HHV) 0.00E+00 0.00E+00 8.63E-03 8.63E-03 

Renewable (Biomass) REB MJ (HHV) 0.00E+00 0.00E+00 1.70E-03 1.70E-03 

MANDATORY INVENTORY PARAMETERS 

Non-renewable Material 
Resources 

NRM kg 0.00E+00 1.17E-03 1.05E-02 1.17E-02 

Renewable Material Resources RM kg 0.00E+00 0.00E+00 7.11E-05 7.11E-05 

Net freshwater NF l 0.00E+00 0.00E+00 1.22E-05 1.22E-05 

INDICATORS DESCRIBING WASTE 
Hazardous waste disposed HWD kg 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

Non-hazardous waste disposed NHWD kg 0.00E+00 0.00E+00 7.70E+00 7.70E+00 

 

 

 

  Building Life Cycle Information Modules (x: included in LCA; mnd: module not declared; mnr: module not reported) 

Product 
Construction 
Installation  

Use End-of-life 
Benefits Beyond 

the System 
Boundary 

  R
aw

 M
at

er
ia

l s
u

p
p

ly
 

  T
ra

n
sp

o
rt

 

  M
an

u
fa

ct
u

ri
n

g 

  T
ra

n
sp

o
rt

 

  C
o

n
st

ru
ct

io
n

 /
  

  I
n

st
al

la
ti

o
n

  

  U
se

 

  M
ai

n
te

n
an

ce
 

  R
ep

ai
r 

  R
ep

la
ce

m
en

t 

  R
ef

u
rb

is
h

m
en

t 

  O
p

er
at

io
n

al
 E

n
er

gy
 U

se
 

  O
p

er
at

io
n

al
 W

at
er

 U
se

 

  D
e-

C
o

n
st

ru
ct

io
n

/ 
 

  D
em

o
lit

io
n

 

  T
ra

n
sp

o
rt

 

  W
as

te
 p

ro
ce

ss
in

g 

  D
is

p
o

sa
l 

  R
eu

se
  

  R
ec

o
ve

ry
 

  R
ec

yc
lin

g 

A1 A2 A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 C2 C3 C4 D D D 

x x x mnd mnd mnd mnd mnr mnr mnr mnd mnd mnd mnd mnd mnd mnd mnd mnd 

 

 



EPD 
ENVIRONMENTAL PRODUCT DECLARATION  

| ENVIRONMENTAL PRODUCT DECLARATION 

 

 

DATA SOURCES 

This EPD is based on foreground LCI data collected from the participating company’s production facilities for the calendar year 2018. 
All upstream material, resource and energy carrier inputs have been sourced from various industry-average datasets and literature. Many of 
these data sets are defaulted to those specified for use in the NSF PCR 2019. The following Table describes each LCI data source and includes 
the data quality assessment. 

 

MATERIALS LCI DATA SOURCE YEAR GEOGRAPHY DATA QUALITY ASSESSMENT 
Municipal water ecoinvent 3.7: Tap water {RoW} |market for | 

Cut-off 
2018 Global 

Technology: very good, Time: very good, 
Geography: good, Completeness: very good, 
Reliability: very good 

Electricity 
ecoinvent 3.7: Electricity, low voltage {WECC, US 
only}| electricity voltage transformation from 
medium to low voltage | Alloc Rec, U 

 

2018 
 

Global Technology: good, Time: poor, Geography: 
good, Completeness: very good, Reliability: 
very good 

Grease US LCI: Diesel, combusted in industrial 
equipment/US 

2014 Global 
Technology: good, Time: poor, Geography: 
good, Completeness: very good, Reliability: 
very good 

 
  Diesel 

US LCI: Diesel, combusted in industrial 
equipment/US 

 
2014 

 
Global 

Technology: good, Time: poor, Geography: 
good, Completeness: very good, Reliability: 
very good 

 

 Non – hazardous solid waste USLCI: Process-specific burden, sanitary 
landfill {RoW}| processing | Alloc Def, U 

 

2014 
 

Global 
Technology: very good, Time: poor, 
Geography: very good, Completeness: very 
good, Reliability: very good 



EPD 
ENVIRONMENTAL PRODUCT DECLARATION  

| ENVIRONMENTAL PRODUCT DECLARATION 

 

 

 

REFERENCES 

 

 

ASTM International General Program Instructions (2020) v8.0 

ASTM International: Product Category Rule (PCR) for Construction 
Aggregates: Natural Aggregate, Crushed Concrete, and Iron/Steel 
Furnace Slag UNCPC 1532 ; Version 1 January 2017. 

Bare, J. (2012) Tool for the Reduction and Assessment of Chemical and 
Other Environmental Impacts (TRACI) v2.1.  

International Organization for Standardization (2017) ISO 21930:2017 
Sustainability in buildings and civil engineering works - Core rules for 
environmental product declarations of construction products and 
services. 

National Renewable Energy Laboratory (2019) U.S. Life Cycle Inventory 
Database http://www.nrel.gov/lci/ 

Wernet, G., Bauer, C., Steubing, B., Reinhard, J., Moreno-Ruiz, E., & 
Weidema, B. (2016) The ecoinvent database version 3 (part I): 
overview and methodology. The International Journal of Life Cycle 
Assessment, 21, 1218–1230.  

 

 

EN 15804:2012 Sustainability of construction works – Environmental 
product declarations – Core rules for the product category of 
construction products.  

ISO 14025: 2006 Environmental labeling and declarations - Type III 
environmental declarations - Principles and procedures. 

ISO 14044:2006/AMD 1:2017/ AMD 2:2020 Environmental 
Management – Life cycle assessment – Requirements and guidelines 

ISO 14040:2006/AMD 1:2020 Environmental Management - Life cycle 
assessment - Principles and framework  


